ses s o tost
Q14. vest cross Is made to chock the genotype of o tealt. Which of the following cros

‘“”:_7 Unknown x At C. Unknown x AU
g. Unknown x it B, Unknown = 17

Q15. During sliding of actin filaments, ATP is used lor?
A, Cross bridge formation

. Dragging NMaments.
s D. Shortening of Mlaments
I Q16. The cell membrane of muscle cell is:
' A, Sarcoplasm

C. Sarcomere

B, Sarcolemma D. Myofibrils

Q17. Irregular strintions and inveluntary control Is related to?

A. Cardiac muscle cells C. Skeletal muscle cells
8. Fibroelastic cartilage cell D. Smooth muscle cells

Q18. Cartilage is a type of which tissue?
A. Connective tissues

C. Muscular tissues
B. Epitholial tissues

D. Nervous lissues

Q19. Production of Follicle-stimulating hormone (FSH) and Luteinizing Hormone (LH) from the
puu‘l‘ta% gland of female is controlled by:
. Ovary

C. Stimulated follicles
8. Uterus D. Hypothalamus

Q20. The term menopause means:

A. Start of menstrustion ova production
8. Start of ovulation C. Stop of p

D. Degeneration of ovarles

Q21. The labour pains to expel fetus are due to action of oxytocin on:
A. Endometrium

! C. Perimetrium
8. Myometrium D. Ovaries

Q22. In human females, what is the small, pear-shaped, muscular, distensible, sac-like organ where
gestation takes place?

A. Uterus C. Falloplan tube
B. Kidney D. Stomach
Q23. The function of hyaluronidase enzyme is:
A. Penetration of the sperm Into the ovum C. Entrance of the sperm Into the falloplan
B. Entrance of the sperm into the vagina ube
D. Inactivation of sperms after thelr fallure to
fertilize ovum
Q24. All the following are disinfectants to control bacterial growth except:
A. Tincture of lodine C. Mercuric Chloride
B. Potassium Permanganate D. Hydrogen Peroxide
Q25. Which of the following is an example of spiral shaped bacteria?
A. Diplococcus pneumoniae C. Escherichia coll
B. Hyphomicrobium D. Pseudomonas
Q26. Bacterial cell have ability to maintain its shape through
A, Cell wall C. Cell wall & slime
B. Capsule D. Slime
le of:
QNA Hecl:,c;'bacter pylori is an examp "
B. Bacilli D. Spiral

page3of22
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VS inetorin Is:
C. 3

Q29. The mo
o thod of bringin
0 ox
PhOtorespiration vaenated air ing COntact
ventilation : C
« 0% transport
D, respiration

B, Bronchy
C. Bronchioles

Qsl.Thc "na‘ dcst D. Alveoll

Ilymph node

lymphoid organs b e e
D. subclavian vein

ination of lymph is:

Q32. Dcscendlng aorta is bi

femora) ,
that Supply blood to high mfurcalcd Into two vessels which on further division from 3

A. lliac vein uscles of legs:

liac ar C. temporal ariefy
tery D. sclatic artery

33. i
Q33. Which of the following is the main point of Darwinism?
Over production C. Disuse of organ flife
B. Variation D. Percelved unity ©

i : cestral specie
Q34. Which of the following type of organs are supposed to be functional in an

than in present day species:
A. Vestigial organs
B. Homologous organs

s
. Analogous organ
D. Embryonic organs

?
Q35. Which of the following is NOT an example of disuse of Org::csle atrophy

A. Snake's legs C. Fonr
B. Shedding of milk teeth D. Movement 0

ound:
Q36. According to evolutionary studies, prokaryotes may 'éavi ?leﬁlg:;eafs ago
A. 2.5 billion years ago 1| ears ago
B. 3.5 billion years ago D, -5:5.bliony

ium is?
Q37. The enzyme which can work on pH 7 of the mediu C. Chymotrypsin

‘B\' ;ﬁgi:;e D. Pancreatic lipase

ifferent from others?
Q38. Which enzyme is differe C. Chymotrypsin

A. Pepsin
B. Trypsin D. Lactase

Q39. Competitive inhibitors are
A. Homologous to substrate

B. Analogous to substrate D. Larger than substrate
Q40. The active sites of enzymes are composed of?

A. Few Nucleotides C. Few Saccharides

B. Few Nucleosides D. Few Amino Acids
Q41. NAD is an important?

A. Enzyme C. Hormone

B. Coenzyme D. Vitamin

MDCAT 2023
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A Aty ap g bour g,
o Idng Yiacing
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. - rr::::llse:ona ¢ e actian Potentia) duration | . TR
fu'.ltgonq ]
1 wnrnng
Qaa, Duc;'ing resting Membra Lot mitate
Uter SUMace ¢ potant)
G Neurgy i ntial conditinn:
> More oty '
» E Lo of these suttaces sie rrually pasitive
Btk nt hese wurtar " ATe etually negative

'l"l -y @ - 4 >
rieer 'uﬂh(c af t‘u'uloﬂ | MON' DO'.IIWI'

Q45 The valuy
ol 5
0.01 vailg Ctive Membrang Potential of the neuran g
C 'O.QS valte,
U 067 vone

'-‘"Gmlc:?s :re ?
B Ry el of vnapse c
. ALskAom——
an body are called;

Q497. The
Pressyy
b ;t';':,';':m that receive deep pressure stimulus in hum
C. Red Blung Corpuscles
0. Vihite Blood Carpuscles

Pacinian Corpuscles
basis of surface:

Q48. ceyy
* of differeny types can pe distinguished on the
C. Glycalipids and glycoproteiny

: Phosphollplds
B. Globular Proleinsg
O. Cholesteral
49,
Q A.Mlé?:‘:'s‘ atype of cell division is observed in?
ot C. Blue green algae
D. Cyancbacteria

Fyotic cell is composed of;
C. Proteins

Q50. Cell wan of proka
D. Proteins & Lipids

A, Carbohydralcs
3, Carbohydrates & Proteins
Q51. Which structure of prokaryotic cell will play the role of mitochondrion?
C. Hucleoid
D. Mesgsomes

A. Spores

B. Cyst
ed into Glycoproteins & Glycolipids by which cell organelle?
C. Smaoth Endoplasmic Reticulum

252. Proteins and lipids are modifi
A. Golgl complex
D. Ribosomes & chromoso

B. Rough Endoplasmic Reticulum
C. Micrafilaments

mes

53. Cyclosis and amoeboid movements are due to:
D-. Intermediate filaments

A.  Microtubule
B. Cilia
/layers of cell wall in ram posttive}bac&eria is/are:
C;

4. Number of major layer

A1
B. 2
hen in solution.
ides form a ring structure w
the monosaccharides
5. Most of C. glyceradehyce
D. acetaldenyde

n a five cornered ring known as ===

A, glucopyranose
R ribofuranose -
ing both 2
ich statement is true about regarding C. Trey c:,'e z
W e » both polymers of glucose. o D. They
They are etric isomers of each ot plants.
ome S

They are Q¢

th used

D. &
For example ribose wil

?
and cenulose-m he digested by humans

for energy Stor2ge f
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QA7 WHIEH type of il st e tirahen for water to nl"('-r'll""';“m""
A nnpidar covilent bonds n. tnvnlvmnbhu"“"
1o gelinr covitent haonls Onds

oni, The spocific hoat of vaporiestion of waler plays an important role I the

Te
produy ed by ' L. 1edox ‘“'ﬁ\\‘
"

A ol boan D. HoNo of o
o owldation hove 0

Qs Binlngleally, oo s ployn key roles In mninlnlnlnn the |,

te
Iilsyer membranes, C. huatof va "l\‘
yvateop il e bt Coae Dorlzauo W ghe \ncr
l’l\ n‘::u':.:.lmlm e lidon D, specific heat tapa‘?ty \‘Zag cnz o
Q60, Bnergy Is o« by the hrealdown of complex molecules intg g;mm ';, ;:
rent .tlmn are callod catabolic roactions ©r ap
A released C. produced ""Q‘ y73.When
i conmsmed D. destroyed - ‘:
B. 1
QB )., ~sreremevmmnves forms almost threo-fourth of the body by weight
A walol C. carbohydrates y72. P
i poten D. lipids A,
Q62. The major enzymes Involved in transfer of phosphate group from ATP to Glugosu o
A Iwomerase C. Kinase St
i Dehydrogenase D, Decarboxylase V73,
s
Q63. Out of 36 ATPs, how many are produced in electron transport chain?
A, 2H c. 32
B, 30 D. 34
Q64. Which is the major event in electron transport chain? L
A ATP synthesis C. Substitution
B.  Decarboxylation D. Isomerisation
Q65. Which of the following is used in baking?
A. Aeroblc respiration C. External respiration
B.  Anaeroblc respiration D. Internal respiration
Q66. The provirus of HIV is structurally and chemically made up of?
A. SSRN C. dsRNA
B. SsDNA D. dsDNA

Q67. The molecules used to control virus during infection of animal cells are:

A. Interferon C. Anti
B. Histone D. Sg'r:ug;n

QG68. Virus is what type of agent?
A. Cellular agent
B. Infectious agent C. Non-infectious agent

D. Non-protein agent

CHEMISTRY

Q69.Alkylbenzene is fo

anhydrous aluminum crmed when benzene is treat

ed .
Ploride. Identify the type of reaction. " > ") "2id€ in the presence o
A. Halogenation .

B. Friedel-Craft
S acylation reaction g ;Lile::"(:"afts alkylation reaction
' onation

VIDCAT 2092
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Ayt
L wn s T S Sl camtgnandte 1] (el I G (7)) (0T 30 (1)
Ki 357 31
L‘ e * J a ' -
Q73 . When 7 b",....,,,wﬁm .
. e .
A. Proves B Sl srtverite. tve T seaduet sfars.. 3
e Proges s
- T cagmicyt wtier
T 30 ars Tarmen
Q72 Progangse o0 e .
a e w‘tg .QIN .I,W". wr
wEg © o SLL TT e
e LA en T UDE o0 D
1 Fase _:,c f': e "-0'.-‘.00".--,'00 Ll S g o = 3’.'“"2 STWMITA wIT NuTRT N e o
SIS TUILI4 o oienres e Vo W =G I =250
00 & o s w r ". .. - - % St
OVEL S DUWD., 20 cyuravmy - T = Teneg seimyme e odine anc NAGe
7 -
Q7.1 arborylie s BNL vAr e s -
as T —m-f—ammz;msmm&zzmeﬁumm
/- @S, 9 ey
B nne, i zo0 = Sncamee
> Vere of Tess
274.Acetic acid iy i
ez - - :
WMsuWumm&mdmmm
Lo I aecormsee
T YL VN VSRR LING et s T ImrEm e
E. It hay legs Tegren of nsstee = = g
)75. Mr.

. =cEs mers roumus S

Khan mir acetic zcid with thionyl chiorice Weics oot s sieminess
CH:COC! 4+ 50 HE

h
E.

(LR
{
o

ILE
0

76.After the digestion & before 2bsorption the procus of e sronsic o=
A. Aming Acd znd smzll polypepuss

~ oo sl sohveemnes
E. Only Aming Acig 2 Criw =rena
0 i - 1 2
77.Dehydration of z2lcohol gives vihich of the following prodos in e prasescs of HaS0. 3 14092

A. Acetaldehyde -;
B. Diethyl ether

i g2
8.Complete oxidation of alcohol gives which of the follownz .
£ Czoonics
A. Aldehyde s Sere
B. Alkane ==

25 i the belp ot
9.0n joni i ili ﬁumwmsh&’:vﬂs
e can estimate the direction in which eguilid

~ ==z 5 : )
A. Le chaltier's prin_ctple s
B. Law of mass action



;, A1/ imol

L, 3%k
"\!,y '/'o.“"
etnldehyde? i)
Inyl ale ahal and ne
lJﬂl.Wlml nre v !
Winitiony norHees My @
I,l‘ c' hn’l't" ‘,".'"“'"" L "".m" ,.::'
v3. Oxidation number of free mognesium in?
Qna.ox
" '“'. '.’
n | : 1 1dmet ity weh
Jeet the metal which is extracted from hauxite? . (Oakivio
ona. selec o e
[ o8 [4(' TPAT
'/: 4Mv D, cy § The adae
[} AL
o84, Which of the following has the highest atomic radius in 1 Periog, . 2w
' Ander
A Alkaline earth metals C. Chalcogey,. ’ "
[ Alkall metals Halogene ~
A r.?
085.The electronic configurations of some elements are given below, Rec"gt\iz x;‘ ;
belongs to group TITA ch._&a i
- 3 " ' C- 152 252 2 s‘ a
A. ]'--, c’.'o) fl’-j p1 2z
B. 182 252 2pA D. 152252 23
6.
v
@B6.All alkali metals react with chlorine gas to form white metal chiorides salt. ¥
salt formed is: EW._\'
A.  Insoluble C. Soluble in water t0 Qive -
B. Soluble In water Lo glve neutral solution of 5 gh|lb| 9Ive agq, e,
h? + 20luble in water tq o it
’ ph 14 Sive a‘k&i;‘.‘zg.‘:
QB7.Which one of them is amphoteric in nature?
A.  Lithium oxide C. Calcium oxide
B. Berylllum oxide D. Potassium oxide
Sg:}?md‘ of the following is correct electronic configuration of iron (II) ion (atomic ne
A. [Ar) 450, 3d6
B. [Ar] 452, 3d6 C. [Ar] 4s2, 3d4
D. [Ar] 4s2, 3d5
QB9.Which of the funct
lonal grou
A Al group are present in ethy| acetate?
: yae group
Carboy
¥l group C. Ester group
| D. Ether grou
ecular formu'a of Pyrid'
A CoHsn Ne molecule?
o c’:“s‘v‘
C. CsHsnH



S1.Identify wh
Q fy which methog i« used to prepare Alkynes?
. Denalogenatian of Vieinat

Presence of muothanes -

2 presence. nol aliZes in tne r Detinlagmentinn of Jo mnl Gralase i 1he
. = N of Alconhars s 1" - preveccm of strueg ueva
Al:O3 at 3€°.45°.d"°r"" l":";':,)::";:nvo- " 7] Fineteripnm ot a ,“.-.-‘,, T Bt
Q92.The addition reaction
. of 2-hutene wi
o :"b'bmcbu[anc With MOr produces?
-3 ¢~br0mob"gan,_. C 1.3 dirumntistann
D 2.3 qiuenmangrans
Q93.Under sultable conditions alkanes cannol
B BlbstRute undergo .......oveuieenn. reactinns?
E. Combustien . Hygtogunaton
Q93.A compound of phe D, fddtion
2 : sphorus oxid
. F20s @ has 43.6% of Oxygen. Its empirical formula is?
E. P03 C. b
. 102
D. pG;
Q95. Which element is
used as
;_ 2 standard to determine atomic mass of an element?
c. P
D.
Q96.The average wei
ght of
called atomic weight. atoms of an element compared to the vieight of one atom of is
A. Carbon
B. Helium C. Hydrogen
D. Hitregen
QS7. Which of the f
A lseagsos 3¢‘Dslzlogzin&‘cl;::ronlc configuration Is correct for 24Cr?
‘ +95%,3p%, 451, C, 1s53,253,2p%,353,3p¢,3¢¢
B. 153.253,2;:‘,35?,39‘,453,3d‘ D. 1s2,2s3 2?:‘ 354 ’;“ &t
. - . - - Jry
Q98. The same moles of H2, N2 and Oz are prese
ntin 0.1 X
oo S el b shed P cc volume at STP. Which one has greatest
A. Nz C. D2
B. H2 D.

Humber of molecules zre equal
Q99. Which is not a property of liquid?
A. Osmotic pressure C. Diffusion
B. Freezing point D. Melting

)100. Which type of forces exist between iodine molecules?

A. Dipole-dipole forces

G
B. Dipole-induced dipole forces

Instantaneous dipole-induced dipole forces

D. Won-polar forces
01. In anisotropi

c crystals which property do not change with the change in direction of
/stalline structure?

! lar mass
A. Electrical conductance g . ‘F.::fractive -
B. Thermal conductance

2. In me r i i ftem erature?
' tals, why electric conductivity decreases with the increase 0 emp
- ’

rect th
lectron girection changes 2
A. Because electron movement decrease with C. ?:r?puesreati i i
the increase of temperature D. Because they pass heat current
. Because metal ions oscillations hinder colision of electrons
electron movement



lectran affinity as com
ine has loss © Parad 1 Is
why flin o
Ql"‘.

& "\I"”,
sgativity -
A Pl o ua ok et tonid D, Vi .
R TIT sinall electionh RLLTTIT h'-':'l'v‘:,',;.. W
y104. Which oxyacid of halogen Is strong oxidizing agenty = .‘-"'”':,';..
Q1ne. _ .
MY {, 'l(’:l()
[‘l\ He kM + Hoig,
transition metal show 3d5 conligy 1u thw prote
Q105. Which o the fallowing aurnton i, et
\ ' b S My, A
g (SR v Zn4 N n
B Fesd < N, g wmien one of ¢
) A H"l"" =
AT L
;. Which of the following reagents can be used to distinguish between, o s W
QAo Penty he proces’
Pentyne? Ny 16 TS E Ve €
C. Bra/ccy "Ny it
A, AaNQOs + NH«OH D‘ K 2C 4 poanrage
a1 9% alkalme dilute KMnOa4 s 2Lra0» "‘HISO. W hunTagh
(a7 hat e
of alkyl hali gt
Q107. In SN1 reactions the correct order of reactivity ky de is? 5 ':c:m:'
A Prmaryscecondary >tertiary g gﬁﬁi’:da>'¥>9ﬂmaw>‘emw
S Tertian Ssecohdary>primary : y=>tertiary >Setundan' e
A, Rei
o . Pr
Q10S. What is the IUPAC name of diisopropyl ketone? 8
A 1 3-Diisopropylpropan-2-one C, 2,4-Dlmethylpentan.z-°ﬂe 119.Th
8. 2 s-Dimethylpentan-3-one D. 1,3-D|methylpropan-2-one Ao
B.
Q1089. The appearance of a silver mirror in Tollens' test indicates the presence of which of the  420.
following? act
A A ketone C. An acid 1
8 Analdehyde D. An alcohol
Q110. Competitive inhibitors stop an enzyme from working by: |
= Chanaing the shape of the enzyme C. Blocking the active site of the en
& Zyme
= Merging with the substrate Instead D. Combining with the product of the reacz

Qlt’x. If phenol is treated with 3 moles of conc. HNO3 in the presence of H2S04 what will be the
product?

C. o-nitro phenol and p-nitro phenol
D. picric acid

8 7 C. 7p
D. 7s
Q113.Which ele
o ment has the groung state electronic configuration of 1s2, 252, 2p6, 352, 3pb
5. C C. Na

B'adm 2



oqrt!‘u‘r;:v:l:'l;‘?me Proton (atamie number) of an element that has taur unpalind sleetenns in e
B. 14 € 2
5.Which one of the ¢ il

Q1 l“ o, ollowing gases has the laviest donuity under room eonditions?
B. Nitrogen L Qrpynn

o Manunnw
Q116.The process of hea Now
molecules have equa) betwean hotter and coldor gases ramains cantinusd until all the

AL Average transip

Honal kinet
B. Average rotatie We enargy

nal uln"‘"( cnc'qv L ’vl',"ll"ﬁ "0’,5],‘"0",,‘[ “:'","0‘4‘ .,'..,'."

L. Lanrane sitientinna) viresie enetdy
Q117.What is the ultimate fate of reversible reaction?
A, Completion of reaction

B. Complete consum C. Complete core 2 :
tio . plete corcumtion of producs,
PUon of reactants O. A s\ate when there is, 0% B8 ennenteatinn
change

Q118.In reversible reaction, when product is removed,

A. Reactant side
B. Product side g 181?21:3;: ane biy ane

the equilibrium shift towards the:

2119.The rate of reaction between two specific time intervals Is called?

A. Instantaneous rate of reaction
Sl i C. Average rate of reaction

D. Initial rate

!:gl.:no?w will be the rate of reaction, if the slope of the curve is greater near the start of the
A. Constant C. Greater
B. Equilibrium D. Lesser

121.What is the reason of energy changes in chemical reactions?

A. Bond formation C. Bond formation and breakage
B. Bond breakage D. lonic bonds

22.What is the unit of heat capacity?

A JK-1 ks
8. Kimol-1 D. K.mo!

PHYSICS

ange in resistance per kelvin?

esistivity
C. Temperature coefficient ofr :
skt D. Temperature coefficient of resistance
B. Resistivity

13.Which of the following the fractional ch

Page 11 0f
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ransfer theorem, which gof the ro
Ow‘n

QlZJ.Accordlng to maximum powert
delivered by the battery to the output? "
A B €. Eiys, the ",

B. '_‘::,2.’ D 53/:., L.\.
velocity selector will select only those charge particles whoge -
Sty iy o
/re,e QN“,‘ bv

szs.
v c
v D v=n

=3
£

54

om 3

ed emf produced in the coil is sometimes called as?
Motional emt

Q126.The induc
A Seif-inguctance c.
D. Mutual..-.aum,,:e

§. Backemf
Q127.The quantity A@/At has the same units as that of?
Current C. Charge
D. Emf

A,

8. Magnelc inguciion

Q128.Working principal of magnetic levitation train is according to?
C. Ohm law

Faraday law
Y D. Lenzlaw

A.
5. Max planks law

he emf produced by A. C. generator is?
C. NwkiB

Q129.The expression fort
A, NwAB Sin8
D. ILB Cos8

8. NwAB CosB

Q130.For the positive half cycle i.e., 0 = T/2, the diode D:
C. Behaves as open

4. Isreverse biased
D. Shows maximum resistance

8. Is forward biased
Q131.The process of ejection of loosely bound electrons from a certain photo sensitive syrf;

absorption of photon is called:
C. Pair production

A. Compton effect
8. Photoelectric effect D. Black body radiation

Q132.In Compton effect, a photon of a certain wavelength collides with a stationary electro:

wavelength of the emitted photon is:
C. Same

A. Longer
B.
Shorter D. Infinite

133.The Balmer series of hydrogen is important because it:

A.
::::;:22’ gge '°;"'h"h the quantum C. Is in the visible region
use e
D. Involves the lowest possible quant

B.
Is the only series that occurs for hydrogen numbe
rn

Q134.The ST unit of equivalent dose is:

1 -
. Mass C. Rad
D. Sisvert

.Y
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(35T
Q consgnn( with time
A Jaries inversely with timpe
8.

decay rate of radlonctive
Subniag
e In;

' LI |'|n'...'

b U Dotronnm 1 Oy
01’6‘.",3 relation etween gray and rag In - LA T ety W\:hluv.‘.'.‘.?. e
DL
1 " N
A o003 o it
s v c
.o in
displacement-tj he A0
a the nt=time gry
@37’ AFARR, If the siap, I
variable Constany then 1
A constant ‘ "o velochy ts
D. May be CLTITN I P —
§.0-kg box slides alon « Infinite Onntant
Qﬂsl;c': massless spring that é:,:’“::flzomal frictiontes s
relat force of the spring, ©SSeS 12 cm bhefor 1100r a1 3 m /g ang
rc“,dan ore the hoy comoes g: collides with o
3 D) ’m‘o c“'
N culale the
A 2
N
B. 30 C. 3o00n
D. 3000
139 the circular line has a fix distance fiom "
\
_ Any point
oint
g. Afix pol C. Apoint on a circle

D. A point from outside

40.1f a particle is moving with unifo
Q%™ elocity and acceleration are an"p;'r';rei'rcular Motion, then:

5: velocity and acceleration are parallel C. Velocity and acceleration are
perpendiculars

D. Zero acceleration
41.0ne degree is equal to:

1
2 A. n/90 radians.
g. n/180 radians. C. n/270 radians.
D. n/360 radians.

142.An observer standing near the sea shore observes 54 wav
e water wave is 10m then the velocity of water wave is: SRR TN T G wavelenptives

A. 540 m/s C. 54m/s
B. 9m/s D. none

143.1f the length of second pendulum becomes four times, then its time period will become:

A. Four times C. Half
B. Two times D. One fourth

44.First law of thermodynamics concerns with the conservation of

C. Momentum

A. Heat
D. Energy

B. Work

atCp at constant pressure. When the temperature of n

the internal energy is:

c. n(Cp-R) AT
' nGos D. n(2Cp + R) AT
B n(Cp + R) AT

45.An ideal gas has molar specific he
les is increased by AT the increase in

ODa0n



T We ”'C‘ 0 .
need:
'lmmnlm o s portable digital multi meter
Mty g,

L C \'Onme(c
Wor oy v D. Ammc(crr
1. ‘At h'L, and
l')m::. A Wire o "IfEm area of cross-section "‘ "::";m ! ms““‘"% R i
“What wiy Bappen to the resistivity of each p %""«
C. It wil ;
AWl by ot D. 1€ wil :’:":’:,:,‘“" ‘\,
10w by one roun1 the san '
. r square which lies 5,
Quan, 1y, T lield is applied over on area "f d-mete = Ngle o
WIth the tiold, tyen the resulting Hux will be: 50%
A C. 0.25wWb \
L D. 025T
LR AR
m on current carryin
Q19 The magnitude of magnetic force will be maximu g co"d“"" in,
Maanetic tield it conductor is placed? —_— N,
C. Perpendicular to Magnay
A Parallel to magnetic field D. Antiparallel in magngy,. ﬁzfﬁc
I AL degree in magnetic field g
of copper, electrically insula
Q150.1n principle, the transformer consists of two coils ’ ted My,
other, wound on the same?
C. Gold core
A Tron core, D. Steel core.
L. Copper core.,
Q151.In Compton effect, the incident photon when compared to the scattered photgn is of:
A. Greater energy C. Greater energy and momentym
e e
/ X ¥ al ener.
B. Greater frequency 0. ‘Equ 9
Q152.Which of the following is the longest wavelength of radiation for the Paschen series?
B. 187000000/ m D. 0.00000187/ m
Q153.Which of the following is the correct definition of variable velocity?
A. Unequal distances are covered in equal C. Unequal displacements are made in &
intervals of time intervals of time
B. Equal displacements are made In unequal D. Equal displacements are made in equs
Intervals of time Intervals of time
Q154.The velocity-

time plot for a moving particle shows a straight line.

A. The particle has a constant acceleration C. The particle has zero displacement
B.  The particle has never turned around D. The data in insufficient

This means:

52 's moving with the velocity of 36km/hr. His speed with respect to the

C. Zero
D. Infinite

DCAT 2023
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151.0ne radian is analogous to:

C. 57018

5703'
5703“ D' S7°18.

12.Wave trough refers to the:

Wave length C. Highest point of the wave
Wave speed D. Lowest point of the wave

LLLE T

§3.When a wave goes from one medium to another, there is a no change in the:
C. Wavelength

Frequency
Amplitude D. Velocity

o 3.

then particle of medium:

4.If transverse waves are passing through medium,
C. Move toward

2. Remain stationary D. Move In Simple Harmonic Motion
. Move away
5. i al gas depends upon:
The speed of sound in an ideal g ¢ Temperature and density
1 plitude

" Temperature and amplitude D. Density and am

. Frequency and fog
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QiT1.4 charged particle moves in a uniform electric field between two opposltelv charged pay,
metal plates. To calculate the force acting on the particle due Lo the electric field, which quan

not regquired?
C. Plate separatlon
D. Polentinl difference between the gl

Sarticie charge

o m

PRrUie SDe

CiT7IWnat s the potential difference between two points in an electric field if it takes 600 )
emergy to move a charge of 2 C between these two points?

1200 ] C. 300)
) D. 01

L

-To store the electric charge the ultra-capacitors use effect.

£
Ve
1
(M)

e x‘;. C. Triple layer
Sl L2 D. Quadruple layer

LU

174.A capacitor of capacitance 'C’ has a charge Q'
inereasad 1o 2Q'. The stored energy will be: 'Y and stored energy is ‘w’, If the charge

: C. w/a
D. wy2
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- Punct

- Uate the given sentence correctly.
Y father is

Committee,

A,
My father is Chairman of the Committee on

Internal Relations, He also heads the
Discipline Committee.

My father is Chairman of the Committec on
Internal Relations - he also heads the
Discipline Committee.

Q187. Which of the following sentences is correct?

A. 1 want to live near my parents live.
B. 1 want to live where my parents live.

Q188. Choose the sentence that is grammatically correct:

A. He weighed himsell two maunds.

Chairman of the Committee on Internnl Relntion

have
trave hadd

frave bougin a

n', huayed W

< he also hoods the m‘“”

c. My father Is Chaliman of y,,

Internal Relatione: he Mon y 1 Wi,
‘\“'N U

"
Discipline Committee, Wag.,

p. My father I Chaltman of gy,

internal Relations, but he -“'.um“'“'\\..
piscipline Committee, Weag. b,

c. 1wanttolive where, my paren "

p. 1want tolive where: my parene e

‘!

C. He welghed themselves two mayng

D. He welghed itsell two maunds,

B. He welghed two maunds.

Q189. Choose the correct option.

We felt as if the ground was

beneath our feet.

A. digging
B. sinking

C. slipping
D. bursting

that human beings do not belong to this earth.

Q190. A few years ago, it

A. found
B. was found

C. were found
D. had found

Q191. A shoal of fish killed by the fishermen.
A. has been C. had
B. have D. has

Q192. At |ast the fly was

A. Trapped by the spider
B. Entertained by the spider

The most appropriate word to be filled in is:

C. Invited by the spider
D. Spared by the spider,
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D. Only
\e
All Chlldre re sill All rich pe°P
Of the fol ing cc)y ’:eo.p,e. Some Silly people are rich people.
NClusipp e NECESSARYT v TRUE?
LUSIONS:
I.So illy People are children,
II. 5o € rich People are children, 111
III, s e silly People are big shots, G I andII
and 111 B 3,208

e ———————

Rough Work



